Answer Key ¢ Lesson 2: Modeling Division

Student Activity Book

Name Date

Divide Into Columns Divide Into Columns (SAB pp. 269-270)

Solve the following division problems using the column method. Questions 1_5
The first one is an example.
Example: 439+ 6= 73R 4----~-~" """ "7t Toe |.* Possible response: 909 + 4 =227 R1
P - Into the Leftto™
. Columns. Divide Into the Left to
3 3 3 3 a 3 19-18 =® Columns Divide
20 | 20 | 20 | 20 | 20 | 20 [ 120 | 139-120=19 202 |22 8 9-8=0)
50 50 50 50 50 50 300 | 439-300 =139 25 | 25 | 25| 25 100 | 109-100=9
1 2 3 4 5 6 100 | 100 | 100}| 100 400 509 — 400 =109
100 | 100 100\ 10 400 909 — 400 =509
1 2 3 4
1. 909 +4=
100 + 100 + 25 +2 =227
Into the Left to
Columns Divide
2. Possible response: 365 ~ 9 =40 R5
1 2 3 4 Into the Left to
Columns Divide
20 | 20 | 20 | 20 | 20 | 20 | 20 | 20 /20 180 185-180 :@
20 | 20 | 20 | 20 | 20 | 20 | 20 | 20 X 20 180 365 -180=185
2. 365+9=
1 2 3 4 5 6 7 8 9

Into the Leftto

Columns Divide 20+20=40

3. Possible response: 1117 = 6 =186 R1
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Into the Left to
Columns Divide
6 [o|6|6l6f 36 37-36=()
Modeling Division SAB . Grade 5 - Unit 7. Lesson 2 269 80 [ 80 | 80 | 80 | 80 80 480 | 517-480=37
100 | 100 | 100 | 100 | 100 \ 100, 600 [1117-600=517
1 2 3 4 5 6

Student Activity Book - Page 269 100 +80+6 = 186
Y. Possible response: 5982 +~ 5=1196 R2

Into the Left to
N o Columns Divide
lame ate
66|66 o\ 32-30=0)
10 | 10 | 10 | 10 [ 10 82-50=32
3. 1117:6= 80 | 80 | 80 | 80| 80 482 400 =82
100 | 100 | 100 | 100\ 100 982 — 500 =482
[ the Left
o tne ohte 1000|1000 {1000{1000 @ 5982 — 5000 = 982
il 2345

1000 + 100 + 80 + 10+ 6 = 1196

5. Possible response: 8463 + 3 =2821

1 2 3 4 5 6

Draw a column model to help you solve the following problems.
Into the Leftto
4.59082+5=_____ Columns. Divide

1 1@ 1 3-3-0
20 200( 20) 20 63-60=3

800 | 800f | 800 800 2463 2400 =63
200012001 2009 6000 | 8463 — 6000 = 2463
1] 2

2000 + 800 +20 + 1 =2821

a3-5

5. 8463 + 3 =
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270 SAB. Grade s - Unit 7. Lesson 2 Modeling Division

Student Activity Book - Page 270

* Answers and/or discussion are included in the lesson.
| TG+ Grade 5 - Unit 7 - Lesson 2 - Answer Key
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Answer Key ¢ Lesson 2: Modeling Division

How Far Down the Aisle (SAB pp. 271-272)
Questions 1-4 Nane pae
I. Possible response: How Far Down the Aisle
Solve the problems in Questions 1-4. Figure out ho_w far down the aisle
5 feet cover the gven area, Show or tal now you solved the probiem. = T
Area= 442 sq. ft. " S feet x 8 feet
ﬂ Area = Area =
_ 42 442 sq. ft. 708 sq. ft.
%00 |80 =40
®
5X 8=
40 8
| Answer: 88 feet R2 |
2. Possible response:
| 8 feet | %
Area= 708 sq. ft. %
_ —400
8 X 50= =400 H
400 50 308
=240
8 >§ 4300 = 30 _ gi Modeling Division SAB. Grade 5 - Unit 7. Lesson 2 271
@
8§ X 8= 8 ..
64 Student Activity Book - Page 271
| Answer: 88 feet R4 |
Name Date
3. Possible response: % et 4 7 fest
4 feet _ rea =
|—| 14?08; t. 3022 sq. ft.
Area= 1450 sq. ft.
—1200
4215907 300 250
— 240
10
4 X 60= = 8
240 | 00 o)
4 X2=
8 2
|Answer: 362 feet R2| ;
4. Possible response:
7 feet ";
Area= 3022 sq. ft.
7 X 400 = =
2800 400 222
- 210
12
7 X 30= — 7 272 SpB. Grade 5 - Unit 7. Lesson 2 Modeling Division
210 30 ®
TX1= ..
7 1 Student Activity Book - Page 272

Answer: 431 feet R5
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